ER19%F4A8AYIT FERER

BREE RARA

(00:00) FH7E # 5 |\WThict Ry
B BEE T BLEL |BHBRE|BHREE) REAK | ZToth
BES Rk EH 1 AR 2BHRER |3 EE 4 RER
BEEX EEE LLO VTH 5T EA |#EH & FTUVES RE
#FETHRK 3 18,136 19,798 18,717 14,704 71,355 100 1,749 2.39 73,104 3
BES Rk EH 1 BAKER |2 BEFRE SHERER [4RER
BEEX EEE NS R BRF LS & 28 ®>
#FENERIIK 3 12,994 11,606 17,135 22,200 63,935 100 1,980 3 65,915 2
BES Rk EH [ RER 2 |IE SHEARER
BEEX EEE X% wEH  |AB =hE BN 5—
oFENMEX 2 16,449 14,781 24,548 55,778 100 1,766 3.07 57,544 3
BES Rk EH [ RER 2 |IE 3 B 4 iR
BEEX EEE R EF TER =88 JIA SN BEON
oFEMHK 2 14,932 6,399 10,465 10,396 42,192| 100 1,707 3.89 43,899 1
ES Rk TEHR (1 HR 2RER SEA#ER |4BHRIR
BEX BEHE w0 kg A LLoY  |W5EF BT 3FLy E—
#FENEEX 2 9,251 16,600 6,274 23,255 55,380] 100 868 1.54 56,248 1
BES Rk EH [ BEERER 2RER SHEARER
BEEX EEE Lz fiE hES & BE LIpE
ok F T 2 10,790] 4,876 15,136 30,802| 100 393 1.26 31,195
BES Rk T 1 BFE 2 ABAR 3 |IE 4RER 5HERER [6#HERER |THBARIR [ HEERIR
BEX BEHE UL BE Kl FhHz |hDS # MR XA K F63 #HE RF gk EAX |hE HKA
ot I 6 6,470 22,672 10,350 22,673 13,899.321 10,680 13,063 13,239
I BARKER [10RER
FH EF AR LAL
13,856 11,008.678 137,910.999|  100| 0.001 2,290 1.63 140,201 3
BES Rk EH [ BERER 2 BA#ER (3 0BH% 4RER 5 TR 6 BRHRER |TRER 8 HRARER
BEEX EEE X% RE Al E— Bl LAWE B HES  |EE & B0 F&b T (2 AAR HHEL
offg 7 17,362 24,293.268 27,730.731 23,184 9,726 13,979 26,682 19,781
9 BHRER |10 R
R FALS LK HE
21,755 2,769 187,261.999|  100| 0.001 3,048 1.6 190,310 2
ES Rk EH 1 BFIE 2 |IE
BEX EEE #}AR K505 Bl H0HE
ofEIlTT 1 9,221 13,617 22,838] 100 568 243 23,406
ES Rk T 1 BFE 2RER SHERIR [4BBEER
BEEX EEE TE BEH  |EF OIS BN 88 BB KLLIS
oAREET 2 6,842 7,993 11,025 20,436 46,296] 100 688 1.46 46,984, 1
ES Rk EH [ BEERER 2RER SHEARER
BEEX EEE KE# L&SL |WEAN #F0 |HH BX
oFFE ™ 2 15,438 15,579 14,932 45949 100 697 1.49 46,646
BES Rk EH [ BERER 2RER SHEBRER |4 EE
BEEX EEE H bEue iR & 558 BE |ohbe t—
o H T 2 11,139 7,279 15,643 5,787 39,848] 100 770, 1.9 40,618
ES Rk EH [ EERER 2RER 3 B 4 HRARER
BEEX EEE Pk FSO5 |FEH VAL | KH UAH  [FEH =+FH
ofEET 3 13,696 11,250 17,584 13,505 56,035 100 863 1.52 56,898 1
BES Rk EH [ BERER |2 BFRE
BEEX (EEE R E&fh (Bl B
oR & 1 14,874 2,494 17,368]  100| 487 273 17,855
ES Rk |E§i |1 BEHREIR 2 EFR |
BEX BEHE =N =H A8 LIFAT




FER19F4A8AMIT FEB

BLEAEE FRSH

(00:00) FR7E #® 2 |LWThich HIRY
B BZRE| BT BLAL |BEYPBRE|BIBREE| BELY |Zoft
[O ot 1] 13,819] 20,664] 34,483 100 545 1.56 35,028
&5 ®iK EH | BERARER [2RER 3 EFR
BER RHE kg E2 St BAER |FHA =8B
# #EEHH 2 18,357 17,561 13,460) 49,378] 100 1,062 211 50,440
E5 HiK EH [ RER 2EBARER [3HERER |4 EFRE 5RER 6 BBARER |[7AAXRER (8 AHR
BER BHE & BhsH [EEH F54#  [BAX AT [EI VAL B FAAS 8K KLY  |ngE ik HN B
#  #iAm 5 10,177 16,527 6,282 17,414 17,131 17,166 13,551 22,617 120,865] 100 1,545 1.26] 122410 1
&5 HiK M |1 EFRRB 2BHRER
BER REHE D LLUI|HE B
O o™ 5,786 4,066 9,852 100 225 2.23 10,077
O oAZEHT 1,604 4,343 5947 100 97 16 6,044
O offIfEHT 1,641 2,053 3694 100 81 215 3,775
i S T - BRRRARET 1 9,031 10,462 19,493 100 403 203 19,896
&5 ®ik EH 1 ABR 2 &R SRER 4BEHRER |5 BAHER (6 BRHRER |7 #IK 8 RER
BER BGHE oheEtE BiE (B WA A F65% Bk BHE |t ELF $#AR FEEL (WX RF 2H YT
O oM 4 19,883 4,262 18,344 15,967 7,944 17,102 12,771 18,764 115037] 100 1,440 1.24] 116477 4
E5 ®iK M |1 EFRR 2HERER HERIR |4 EFRE
BER EHE #F YsS5L N BF I ER |[AhNeF FA8
O o 2 10,152 17,142 14,293 8,052 49,639 100 838 1.66 50,477 2
E5 HiK M |1 EFRR 2BBARER [3EFRRE 4 EAE 5 RER 6 EFE
BER EHE M FE= lFo&Y REI [FAE WFE |[CAD HBE BH &LB B HXE
O o/\FHH 3 4,309 15,153 8,396 4,085 10,882 5318 48,143] 100 1,152 234 49,295 3
&5 HiK EH | BERARER |2 BEFE SRER
BER EHE SH FEB g <UF B VAE
O oHBFH 2 15,258 12,662 13,869 41,789] 100 553 1.31 42,342 1
&5 ®iK M |1 EFRRE 2EARER [3REXR
BER BGHE &) LBUT[EA KB EH #2L
O o)l 1 4,858 11,370) 3,203 19,431 100 220 1.12 19,651
E5 ®WiK EH [ RER 2BBARER [3EFRE
BER BHE LOEE SHDYEN TEHH FEH EN
O ofkr A 2 11,818 11,733 8,073 31,624] 100 607 1.88 32,231
&5 ®WiK T |1 EFRR 2 &R SHHERER
BER RHE BH UAF B<E HE & vrH=E
O oEEM 2 11,633 6,691 15,351 33675 100 460 1.35 34,135
&5 ®WiK EH [ RER 2AA#ER [3EHARIR |[4HBARIR |5EHWRE
BER BHE K FAT=A3 /M HDL MHE ZDL NHE UTE LS H—
O oxM 2 10,409 9,875 11,182.694 4,920.305 8,487 44873.999] 100 0001 688 1.51 45,562
&5 HiK EH [ RER 2 &R SEHERER
BER BHE R EFHF  |EE vEL fE ogHE
O om#ilEh 2 8,487 9,628 12,489 30,604 100 390, 1.26 30,994,
&5 HiK EH | BERARER |2 BFRE
BER BHE SE5 E®X ADEH BER
O ot 1 11,185 12,078 23263 100 897 3.7 24,160
&5 ®WiK T |1 EFRRE 2BHRER
BER BGHE ZIF EF =i =% =)
O o/\tET 1 5,209 11,742 16,951] 100 462 2.65 17,413
E5 ®Wik EH [ RER 2 BHRER
BER EHE CAL LLDY [fEf 8
O ofn#E 1 9,842 10,750) 20592] 100 381 1.82 20,973




FRR19F4A8EMIT TERBSBRESE RMEH

(00:00) BR7E | # 5 uThizt |¥#d%u
it HEE| T BLEL |BHBRE|BHREE| REAK | ZTofh
BES Rk T 1 BFIE 2HERER [FRER
BEX BEHE SIE FAL  |HA$ Shtfh (MR BF
=il 1 6,053 7,780 6,699 20,532| 100 378 1.81 20,910
ES Rk T 1 BFE 2 |IE
BEX BEHE AT HLLE  |[FEX FAL
O omE#HH 14,908 11,268 26,176] 100 434 1.63 26,610
O ofERSHT 2,817 2,841 5,658 100 79 1.38 5,737
AR BT - REAE 1 17,725 14,109 31,834 100 513 1.59 32,347
BES Rk T 1 BFE 2 BARER
BEX EEE AHE =F |FH UAL
olfi BT 1 6,407 10,815 17,222]  100| 254, 1.45 17,476
BES Rk Y |1 EERER |2 BFRE 3SEARER
BER EHE PR BE|LNES HB LODA 4B
#EIH 2 12,185 12,218 11,333 35736] 100 581 1.6 36,317
ES Rk T 1 BFE 2 BARER
BEX BEHE VAL RIT [T U2HE
oth#& i 1 6,642 13,986 20,628) 100 648 3.05 21,276
BES Rk T 1 BFE 2HERER (3 EME
BER BGHE SWES ZEA (WO DIFS (BRI UAKL
O oLFHMH 1 6,393 10,951 6,639 23,983] 100 394, 1.62 24,377
BES Rk M |1 EERER 2RER
BEX BEHE AH Fo& D2 HFV5
O ok FET 3,967 2,919 6,886] 100 169 24 7,055
O oFNiEF 3,040 1,447 4487 100 77 1.69 4,564
O oA#Hf 2,051 983 3,034 100 80, 257 3114
# H#3RET 6,883 4,368 11,251 100 152 1.33 11,403
*ENSEARET 1 15,941 9,717 25658] 100 478 1.83 26,136
ES Rk T 1 BFE 2 |IE
BER REE BLD BE  [ZAES BEX
O otisET 1,271 1,593 2,864] 100 74, 2.52 2,938
O oZBHAT 6,230 1,968 8198 100 158 1.89 8,356
O oHFEHAT 1,033 7,252 8,285 100 116 1.38 8,401
«H AR AT 1 8,534] 10,813 19,347]  100] 348 1.77 19,695
ES Rk TH 1 BERER 2 BBEIRE 3 EFE LE: 0= 5 \FTE
BEX BEHE HL FEE ONE BB HhDUS [FTEES E— [HI S
O oXk#HEHT 13,541 436 4,157 744 295 19,173]  100] 331 1.7 19,504
O oh+hER 1,573 476 933 4,588 385 7,955 100 138 1.71 8,093
O oZILET 383 3,245 278 85 44 4,035 100 72 1.75 4,107
O of#Z Jelr 3,208 5,696 1,379 823 239 11,345]  100] 328 2.81 11,673
* LI ARET 2 18,705 9,853 6,747 6,240 963 42,508] 100 869 2 43,377




